
3922 407 39501;3     ZOOMCONTROL ASSY

Ref Description Part 12nc Service part

1 ZOOMCOVER 3922 400 08691 Yes
2 ZOOMKNOB No
3 ZOOMBRACKET ASSY No
4 LEVER No
5 TORSION SPRING No
6 CLAMP No
7 SCREEN No
8 POTENTIOMETER 10K 20% 3922 208 00002 Yes
10 RIBBON CABLE ASSY No
11 CSK SCR STL ST M2x6 No
12 PAN TAP SCR F ST T6 2,2X4,5 No
13 PAN SCR STL ST M2x4 No
14 PAN SCR STL ST M2X8 No
15 PAN SCR STL ST M2X12 No
16 ZOOM GRIP SWITCH BRD No
946 INSTRUMENT GREASE 006 No

page: 1 - 1 7/26/2007


